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1. Which statement below correctly describes the responses of the three radiation types to an electric field?

(a) only alpha is bent, while beta and gamma show no response

(b) both beta and gamma are bent in the same direction, while alpha shows no response

(c) alpha and beta are bent in opposite directions, while gamma shows no response

(d) both alpha and beta are bent in the same direction, while gamma shows no response

(e) both alpha and beta are bent in the same direction, while beta shows no response

2. Both________ and _______ reside in the atomic nucleus.

(a) protons, neutrons

(b) electrons, neutrons

(c) protons, electrons

(d) alpha particles, electrons

(e) none of these

3. How many electrons, protons, and neutrons are contained in the hypothetical atom 116X?

(a) 116 electrons, 116 protons, 92 neutrons

(b) 24 electrons, 42 protons, 92 neutrons

(c) 92 electrons, 92 protons, 116 neutrons

(d) 92 electrons, 92 protons, 24 neutrons

(e) none of the above.
4. How many electrons, protons, and neutrons are in an atom of     X3-?  

(a) 32 electrons, 80 protons, 35 neutrons

(b) 77 electrons, 77 protons, 35 neutrons

(c) 38 electrons, 35 protons, 42 neutrons

(d) 77 electrons, 32 protons, 77 neutrons

(e) none of the above.
5. Isotopes are atoms that have the same number of _________ but differing number of ___________.
(a) protons, neutrons

(b) electrons, protons

(c) neutrons, protons

(d) protons, electrons

(e) positrons, neutrons
6. In the modern periodic table the elements are arranged in

(a) alphabetical order

(b) order of increasing metallic properties

(c) order of increasing atomic number 

(d) order of increasing neutron content

(e) none of the above.
7. In the modern periodic table, the rows are called ________ and the columns are called ______.

(a) periods, groups

(b) staffs, families

(c) octaves, groups

(d) cogeners, families

(e) none of the above.
8. Which one of the following is a nonmetal?

(a) W

(b) Sr

(c) Br

(d) Ir

(e) Os

9. All of the following except ________ are metalloids.

(a) Si

(b) B

(c) Ge

(d) As

(e) Al
10. Which pair of elements below should be the most similar in chemical properties?
(a) Cs and He

(b) C and O

(c) B and As

(d) K and Kr

(e) I and Br

11. The alkali metals are found in which group?
(a) x

(b) z

(c) y

(d) w

(e) none of the above.

12. Which one of the following is most likely to lose electrons when forming an ion?

(a) N

(b) S

(c) F

(d) Rh

(e) P

13. What type of formulas can be written for ionic compounds?

(a) structural

(b) molecular

(c) empirical

(d) none of the above

14. Which species has 54 electrons?

(a)      X+
(b)      Cd2+
(c)      Te2-
(d)      Sn2+
(e)      none of the above.
15. Use the following information to identify the atom or ion.

Mass Number

Protons

Neutrons

Electrons



         18                                   8                            
     8                                         10

(a) O

(b) O2-
(c) O2+
(d) S2+
(e) none of the above.
16. Which species has 16 neutrons?

(a) 31P

(b) 80Br-
(c) 34S-
(d) 36Cl

(e) none of the above

17. Which particle has 48 electrons?

(a)       Ga

(b)       Sn4+
(c)       Cd2+
(d)       Sn2+
(e)       none of the above.
18. Magnesium reacts with a certain element to form a compound with the general formula MgX. What would the most likely formula be for the compound formed between potassium and element X?

(a) KX2
(b) K2X3
(c) K2X2
(d) K2X

(e) none of the above.

19. Which group of elements will react with the alkali metals to form compounds with the general formula M2X?
(a) y
(b) x
(c) z
(d) w

(e) none of the above.

20. Bromic acid is

(a) HBrO

(b) HBrO2
(c) HBrO4
(d) HBrO3
(e) Hbr

21. Which one of the following ions has a 3- charge?

(a) permanganate

(b) phosphate

(c) acetate

(d) sulfate

(e) ferric

22. When a fluorine atom forms the most common fluorine ion, it has the same charge as the __________ ion.

(a) phosphate

(b) sulfite

(c) ammonium

(d) nitrite

(e) ferrous

23. Which one of the following is the correct formula for ammonium sulfide?

(a) NH3S

(b) NH4SO3
(c) (NH4)2S

(d) (NH4)2SO4
(e) none of the above.
24. The correct name for N2O4 is

(a)  nitrogen(III) oxide

(b) dinitrogen tetroxide

(c) nitrous oxide

(d) nitrogen oxide

(e) oxonium nitride

25. The formula for hydroselenic acid is

(a) HSe

(b) H2SeO4
(c) H2SeO3
(d)  H2Se

(e) H2Te

